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T = starting temperature
do {
  do {
    Generate a random move;

    Evaluate the change in energy ∆E;
    if ( ∆E < 0 ) {
      accept this move, and update config.
    } else {
      accept the move with probability

      P = exp(-∆E/kT)
      update configuration if accepted;
    }
  } until ( #loops > 100N or #changes > 10N )
  T = 0.9T;
} until ( reduce E is discouraging );

��#����������

�����������

����������
��������



��������	
�	����
�����

�
�&�������
� )�����
��	�	�������	��������
�1,...,N��	���
�
��
����#�����	�����	�����
������	���

'������������ )

! �����$�
&�����
� )

���������
�������� )

*	�
	����#�	������
���T �������	�������
�������T ��#�#�
���

	��+,-����	����
�������T

����������T ����	��	���
�100N 
��������
�	�����
�
���
�10N �����������
��������
�	����

���������
���������
��
���

E x x y yi i i i
i

N

= − + −+ +
=
∑ ( ) ( )1

2
1

2

1



��������	
�	����
�����

�
��
$�(
���"�������


